WALL ANTI-TIP, 4-POST

Components: Tools Required:
Bracket, Wall Anti Tip (2) - Drill

- 1/4" Drill Bit
Hardware Kit (913045): - Phillips Screw Driver

- 7/16" Socket

1/4-20 x 1-1/4" Philips Pan Head Screw (2)
1/4-20 Nut with Star Washer (2)

NOTE: INSTALLER TO PROVIDE HARDWARE TO
SECURE 'WALL ANTI TIP' TO THE WALL

PAGE 1

1910389 REV. C 04/05/2024 SAFCOO

www.safcoproducts.com

For questions or concerns, please call 1-888-971-6225
available Monday-Friday 7:30AM to 5:00 PM (Central
Time) (English-speaking operators)



Wall Anchor Installation Notes:

1. 4-Post unit must be no further than 8-1/2" from the wall

2. Installer is responsible for hardware to securethe Wall Anchor brackets to the wall. Only hardware for
attaching brackets to 4-Post shelving has been included.

3. Wall Anchor brackets must be secured to a stud in the wall or to a concrete wall.

4. The Wall Anchor brackets must be secured to the 4-post unit through the top shelf support and the top

shelf. Failure to do so will result in a failed installation.

'AWMK' Wall Anchor Kit quantity requirements:

Quantity of 'L' and 'T" Uprights: 2 - 4 uprights equire: 1 AWMK Mounting Kit required
5 - 8 uprights require: 2 AWMK Mounting Kits required
9 - 12 uprights require: 3 AWMK Mounting Kits required

Installation Procedure:

1. ldentify the final position for the 4-Post unit The 4-Post unit can be no greater than 8-1/2" from the wall.
Once the position of the 4-Post unit has been detemined, locate a minimum of two studs in the wall. Place
a corresponding mark on the 4-post unit for properalignment of the brackets.

2. Mark the proper location to drill a 1/4" hole tirough the top shelf and the shelf support. The hole location
must be greater than 5/8" and less than 1-3/8" fromthe back edge of the shelf. This will ensure that the 1/4"
hole will pass through the 4-Post shelf support.

Greater than 5/8"
and less then 1-3/8"
from back edge.

¢

1/4" Drilled Hole

Top View of 4-Post Unit

3. Drill a 1/4" diameter hole at the locations thd were just marked on the 4-Post unit. Use a clamp to
secure the shelf and shelf support together during drilling.

4. Secure Wall Anchor bracket to 4-Post unit usingthe provided hardware. Tighten hardware by using a
7/16" socket and a Phillips screwdriver.

5. Secure Wall Anchor brackets to a stud in the wdl. Installer is responsible for hardware to secure the
Wall Anchor brackets to the wall. Only hardware fao attaching brackets to 4-Post shelving has been
included.

1/4-20 Nut
Bracket

PAGE 2



	Page 1
	Page 2

